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Note: Answer any FIVE full * ffioosing ONE fuU each module.
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3a. iable. Find all
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b. Use graphical method to solve the followihg''tr*P problem.

Maximize Z=,,1ffi,
Subject to x, + 2x, ( 10 k:** '
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a. *upolve the LPP: "" :.-

Maximize Z=3x:r"*?xz
-::::

Subject to 4rc*3x, <lZ 
,,,,,.,.,5-,. +xr<8 ;r

4x, -x, <8

X1,x2)0 ;ry$tu
b. Solve LPP by using Big*N{umethod.

Subject to x, * x2 + sr = 1*S.+
2x, - x, * s, =,:*0'..'.,.

^..l -,- -,- ^ ^-.-n.*l

Maximize Z=-2x, -x,
Subject to constraiftil 3x, + x, = 3
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Maximize Z=xr+2xr+ 0.s, +O.sf

(10 Marks)
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forecasting
(10 Marks)
the actual
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Define forecasting. Explain the steps in forecasting.='4ffie$ss. Explain the

nr"ncedrrre for rrsins time series methods. .,,'1*t='.'-,)procedure for using time series methods..e series methods. -*,tq=*,,r

determine the forecast for perioftrD through 12 fot

Module-3

(iv) Quality Circle

** 2of2 ,1.,t

which
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f*= *'bn ,,,',, fu- . .

Define system capacity, desigq@pffiity, capacity planning lain long term and short
r+' (10 Marks)term capacity strategies. 4 ;Tt &

An automobile confionent ril.Ari ia"torer has the plan e{b$ying a moulding machine which

can manufacture t7,OO0_ffix+S/year. The moulding r-rarylihre is a part of product line and its

efficient is 85%. ,:*#" fu='1"
(i) What is requiredpapacitY?

iill Assume tnit '[OO 
seconds time is required to mould each part and the plant operates for\ / 

2000 hrs/ffiI if tn" mould machind.are used for 600/o of the time and ate 90o/o

"m"i"r*t" 
ffii it output of mouldin@c1rinelhn.

(iii) ffowe.gay moulding machine wou.H liL required? (10 Marks)
,,:
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UenfiEi$atne inventory control clabsifications. Explaffi|U ABC analysis with,,Tlf::::]

Usurg SES techntque, c

fisures are qiven below:
telmlne orec

Period I 2 J 4 5 ,-s' 7 8 9 10 11 t2

Actual demand 200 211 190 198 210 'ryo 195 200 215 198 700 2t2

@eriod forecast is-6gpa1 to actual demand; i. l penod gtequit to actual d:ft{ in-,T1' period given

alpha = 0.2. Also gaphiially compare youi foiec^t demand with the'aCfual demand.

;tu -d (10 Marks)

Uenfi6i$atne inventory control ;'d,Iryiincations. Explaie. mu ABC analysis with graphical

representation. ,E. ,.*,,,. \h' s',. (10 Marks)

A company uses annualfy+&pdO units of raw - sting Rs.1.2t/ftn-. Placing order

cost of Rs.45 and carryinl
between each order. SuPPi

on':,.,$4ention the

tity for a
,r& '",,.-.

comffidt for

. Module-S
g a. Define MRP and wittr ffifuk diagram, explain the various inputs to

b. Explain the structute o{an ERP system. Discuss advantages and disadvantages of ERP.
(10 Marks)

EOQ models.
(10 Marks)

which the cost breaks are as

an MRP system.
(10 Marks)

*,i,?HtffiE:::::,

'eur,l,ry.'t OR
Define Just ln=Tilhe (JIT) production. Explain the elements of JIT manufacturing. 110 Marks)_____=:a_ --___ \ _ /f

Briefly eip-laih: (i) Dual Card Kanban Systemttnetly explam: (l) L,ua.

(iii) Proffiiion Kanban
'*mdir::::::: 

"

(ii) Withdrawal Kanban
(10 Marks)


